Bankersadda.com English Language Quiz for SBI PO Prelims 2020 Adda247.com

Quiz Date: 23" May 2020

Directions (1-15): Given below the sentences each of which has been divided into four parts. Each
of the questions is then followed by the five options which give the sequence of the rearranged
parts. You must choose the option which gives the correct sequence of the parts. If the sentence is
already arranged in the correct sequence or the correct sequence doesn’t match with any of the
given sequence, mark option (e) .i.e. ‘None of the above’ as your answer.

Q1. Even though the telecom industry has witnessed (A) some repairs, more needs (B) to be
done on tariffs which are low (C) unsustainably still (D).

(a) BADC

(b) ADBC

(c) ABDC

(d) ACBD

(e) None of the above

Q2. Days after turnover (A) the definition of MSMEs, the government has decided to further
revise (B) the criteria for medium-sized changing (C) by enhancing the investment and units (D)
limits.

(a) ADBC

(b) CBDA

(c) CABD

(d) DABC

(e) None of the above

Q3. Having been on the payroll (A) of outsourcing company Teleperformance, he was told that
Amex had cut down on impact (B) due to the manpower (C) of the Covid-19 pandemic on
business (D).

(a) BADC

(b) ADBC

(c) ABDC

(d) ACBD

(e) None of the above

Q4. Prime Minister feels (A) India can investment (B) as an alternative possibility (C) destination
to China, and the US, too believes it's a emerge (D).

(a) ADBC
(b) CBDA
(c) CABD
(d)
(e)
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Q5. The government kept the lessons (A) of the 2008-13 period in mind when stimulus (B) its Rs
20 lakh crore recklessly (C) package avoiding spending designing (D)to revive the economy.

(a) BADC

(b) ADBC

(c) ABDC

(d) ACBD

(e) None of the above

Q6. Many clients have work (A) sending any sustain (B) to us as they could not discontinue (C)
their businesses and asked us to stopped (D) services.

Q7. The government had made a rough (A) assessment of how much the nature (B) that have been announced
would cost, although given the guarantees (C) of the crisis, it is difficult to put a number (D) to this as of now.

(a) BADC
(b) ACBD
(c) BACD
(d) CADB
(e) None of the above
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Q8. Flipkart's sales restricted (A) during end-March and in April as the government shipping (B)
ecommerce firms from plunged (C) anything apart from food and groceries to consumers (D).
a) ADBC

(

(b)
(c) CABD
(d)
(e)
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Q9. Corporates have postpone (A) Securities & Exchange Board of India (Sebi) to allow listed
firms to either approached (B) their financial results for the June numbers (C) or merge them
with the September quarter (D).

Q10. Franklin Templeton mutual fund frozen (A) in an email to its investors (B) has provided the
schedule of house (C) dates of the investments of its 6 maturity (D) debt schemes.

Q11. While the US and China are concern (A) it out diplomatic brinkmanship, there is duking (B)
that India could suffer collateral (C) damage, particularly in the matter of trade (D) and
movement of people.
) BADC

ACBD

Q12. Providing further businesses (A) to millions of small moratorium (B) in the country, RBI said
it is extending the earlier announced three-month installments (C) on term loan relief (D) by
another three months.

(a) ADBC

(b) CBDA

(c) CABD

(d) DABC

(e) None of the above

Q13. In this period (A), the Supreme Court has manifest (B) a number of rights which it found
ought to be reading (C) on a proper enunciated (D) of the Constitution.

(a) BADC

(b) ADBC

(c) ABDC

(d) ACBD

(e) None of the above
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Q14. With four recent (A) along the Line of Actual Control (LAC) in tensions (B) weeks, the India-
China border is incidents (C) the highest witnessing (D) since the Doklam stand-off in 2017.

(a) BADC

(b) ACBD

(c) BACD

(d) CADB

(e) None of the above

Q15. The trail (A) of death and devastation that Cyclone Amphan has demonstrates (B), in West

Bengal and Odisha fragile (C) once again, the left (D) state of eastern coastal States during the
storm season.
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Solutions

S1. Ans. (c)

Sol. The correct sequence is ABDC. The sentence after rearrangement is -Even though the
telecom industry has witnessed some repairs, more needs to be done on tariffs which are still
unsustainably low.

Hence, option (c) is the right answer choice.

S2. Ans. (b)

Sol. The correct sequence is CBDA. The sentence after rearrangement is,

Days after changing the definition of MSMEs, the government has decided to further revise the
criteria for medium-sized units by enhancing the investment and turnover limits.

Hence, option (b) is the right answer choice.

S3. Ans. (d)
Sol. The correct sequence is ACBD. The sentence after rearrangement is,
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Having been on the payroll of outsourcing company Teleperformance, he was told that Amex
had cut down on manpower due to the impact of the Covid-19 pandemic on business.
Hence, option (d) is the right answer choice.

S4. Ans. (a)

Sol. The correct sequence is ADBC. The sentence after rearrangement s,

Prime Minister feels India can emerge as an alternative investment destination to China, and the
US, too believes it’s a possibility.

Hence, option (a) is the right answer choice.

S5. Ans. (b)

Sol. The correct sequence is ADBC. The sentence after rearrangement is,

The government kept the lessons of the 2008-13 period in mind when designing its Rs 20 lakh
crore stimulus package avoiding spending recklessly to revive the economy.

Hence, option (b) is the right answer choice.

S6. Ans. (d)

Sol. The correct sequence is DABC. The sentence after rearrangement is, Many clients have
stopped sending any work to us as they could not sustain their businesses and asked us to
discontinue services.

Hence, option (d) is the right answer choice.

S7. Ans. (b)

Sol. The correct sequence is ACBD. The sentence after rearrangement is,

The government had made a rough assessment of how much the guarantees that have been
announced would cost, although given the nature of the crisis, it is difficult to put a number to
this as of now.

Hence, option (b) is the right answer choice.

S8. Ans. (c)

Sol. The correct sequence is CABD. The sentence after rearrangement is,

Flipkart's sales plunged during end-March and in April as the government restricted ecommerce
firms from shipping anything apart from food and groceries to consumers.

Hence, option (c) is the right answer choice.

S9. Ans. (a)

Sol. The correct sequence is BADC. The sentence after rearrangement s,

Corporates have approached Securities & Exchange Board of India (Sebi) to allow listed firms to
either postpone their financial results for the June quarter or merge them with the September
numbers.

Hence, option (a) is the right answer choice.

S10. Ans. (b)
Sol. The correct sequence is CBDA. The sentence after rearrangement s,
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Franklin Templeton mutual fund house in an email to its investors has provided the schedule of
maturity dates of the investments of its 6 frozen debt schemes.
Hence, option (b) is the right answer choice.

S11. Ans. (c)

Sol. The correct sequence is BACD. The sentence after rearrangement s,

While the US and China are duking it out diplomatic brinkmanship, there is concern that India
could suffer collateral damage, particularly in the matter of trade and movement of people.
Hence, option (c) is the right answer choice.

S12. Ans. (d)

Sol. The correct sequence is DABC. The sentence after rearrangement s,

Providing further relief to millions of small businesses in the country, RBI said it is extending the
earlier announced three-month moratorium on term loan installments by another three months.
Hence, option (d) is the right answer choice.

S13. Ans. (b)

Sol. The correct sequence is ADBC. The sentence after rearrangement s,

In this period, the Supreme Court has enunciated a number of rights which it found ought to be
manifest on a proper reading of the Constitution.

Hence, option (b) is the right answer choice.

S14. Ans. (d)

Sol. The correct sequence is CADB. The sentence after rearrangement is,

With four incidents along the Line of Actual Control (LAC) in recent weeks, the India-China
border is witnessing the highest tensions since the Doklam stand-off in 2017.

Hence, option (d) is the right answer choice.

S15. Ans. (a)

Sol. The correct sequence is ADBC. The sentence after rearrangement is,

The trail of death and devastation that Cyclone Amphan has left in West Bengal and Odisha
demonstrates, once again, the fragile state of eastern coastal States during the storm season.
Hence, option (a) is the right answer choice.
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